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Holly used a catapuit o shoot sone seeds against a trez. The catapalt 13 showa
below. What should she do 1f she wants to increase the force of her shots?

(1) She should use less effort to pull the elastie band.

(2) She should:tsermare effortto pulk the elestic baudl
{3y SHeshould exténd the lengh of thewooden hondles

(4) She should giorten the length of thewoodern handlass ..

Dolphin, Platypus, Goat, Zebra

[

The above animals can be prouped togather becaase they

(1) Live onland
(2 give burth to their voung
( 3) a2ve herbivores ST
( 4) kave an outer covering bf hnr
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Which of the :ollowing statements shout the moving pail 15 Ivug

( 1) Gravity acts on the ball throughout. _
(2) When the ‘oali teaches its maxcinum beight, there s ne foree
aching on
{3 ) When the bzm reaches 1% maxinum haight, gravity bogns
to act onit. ‘
{4) The specd of the ball is constant thro ughout.
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8o - Which gxowy a;f‘a:uum belong toa pond corrmum*y
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A force is applied from 4 dirsetions. Which ong (&, B, Cor 2 wili cause the

ball to move in the direction as shown above?
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How many food chains are there in the food web showaahove]
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3. Which of the Slidwing fk mt a source of energy?

(1Y moving ar ( 2) sun
(“w T moving ornds . ( 1 nunning water
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AN The »Hont movet i the same drectionds the load,

(R The effort qsed i« Jess than the load. '

N

<Yy The distance moved by the effort is loager ian that of the load,
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15.. A clock needs 2 batteries in order o work, Which one of the {ollowing shuws

i-correctlythe change-of energy W the clock?
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() Kinetic energy————>Chemieal energy =~ ~~}'€i’c‘.:ati'z.iai'éu-é'tg}"

(2 ) Chemical energy——>Kiaetic enetgy-——---tiectical & 1w=mv
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16.  Letters A to H in the food web belatw represent ving things.

Which of the fallowing predictton is comect .
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(L )When po*\hlaho‘w E.decreases;. }‘O“lllau(}'l\ cand G WI.. Laczrea;s_'a, -
(2 ) When populaticn B decreases, populations C, [ and Fwill ioeresss,

+

( 3 Y When population C 1ncreases, population 1
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v {(4) When population D increases, pepulations €, F and G w1l decrease

-y




.

17, Which of the follow mg, I %Amcrenstl ~ help (s) water fyacinth to foat on water?
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21. Stucly ths E’ood chain below.,
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52 \Wich of the HUewng ag Jatv piarub wil no% arow wall in g very muddy pond?
(1) water soess fesp - SN P

:\2) water 1 )
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{4} tape grass

23 Which of the fallowing Srganisms live irl & leaf Jittex ,»'mtat?
Y ank s guua stog
) b ut*er'. termate, barnacles
{3) snall, mwoﬂt ause. dragoufly )
{4) earthworm, miilipade, sp: der iy

24, We expedience day and ught o0 the Earth because of the movernentof
{ ! ) the Sui arot . )
{2 :;a Earfz o1its SurT, BXIS.
3) the Barth rousid the Sun
\4) Lbb 0 L\)Dﬂ o the Barth’s axie
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-5, 1 May seas & full woon on 5% Angust. When will st e ses a full moon again?
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267 Whith argms
1Y camel - bmnm on 113 fpm

2) whale - blow hoiss in ts head

3} gmudskapper - Junas tor hreathing
4) birds - compact bones
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28. Which of the following factors will directly affect the population of Hions in a
cormmuity?

{A) Presence of herbivopes 5
(B) Lack of water 5

(C) The armount of <1miwn* , ; : ,
(D) The size of 2 habitat ~ - -~ - = Tt e

Aoy T @ AmdBany

3) A, BandConly w) *\,B md Donmiy . . B

A At ot e

29. A circuit card is teste mth A cufult testar, LI:: Test: rs Ere e

P TSP

Clips tested Bulo of ctrcuit t(;st\%.-r.
Aand C Lights gy -5 g o
apAand Do :Daes notHgaL UR e ol ‘t .
Baund C Lights up M
Band D Does not light up ) 4
Cend D Does not fight up e .
Which is the cirouit card tested? VRN
M @
ae AT < T
\\J ‘,r e \75.
- f\"\ e --\;_ - - ™
& BL e e [ Ui
" H
N ‘ i
N ' J
(4) 3 - ]
. e A I s
(3) A ‘,/-,/" \C J.\ i:_l""l.-i !"\\1
— i H
~ AN e,
» < B | L b
B . D i ‘

I




30 Tha tabis below shows the oropenties of cells X, Y and €.
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David set tip theapparatus as showd,

Construct a simple food chain with 4 of the organ SIS g'\'en ‘-Q the box. [2]
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Classify the following piants into 3 grovps 3 marks ]
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37 (a) Hew is the omdskipper adzpted to bredthe whein 16 w but of witer? {27
(1Y Namme ansthey aauati (V*ran.sm that has the same adaptation. {1 _
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39. The table below shows the various stages of the Kfi

o
ol . R

A Y_GTOW’&I ofroots andleaves ~. 0 -
B | Development of flowery 7 — - ,3
C Germination of seed s e ‘.‘
D 1
E

| Dispersal of fruit and seed.
| Development of seed '
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40. A plastic eylindiy was rolled over on four difterent platforms (>F“equd {engths
using the szme amourt of force. The distances naveiied tv the rylnder before
soming 0 wast ave shown in the tahle below.
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. (2).. How:mahy uncled does David tave? 1],

42. List two reasons why polar bears are net adanted to tive in the desert {2)
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45. The pie chari below shows the nurnber of Rving things e“xpr ssodd 45 & peresniage.
ina community:—- e - e
Look at the St&tcmvnta 'VJO'\.“.& Baze your answa only o what you can gather Co ~ |
from the pie chart below, Put atick in the correct columm. [2]
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